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ROUGH WORK (T% &TH)



Q001: frg T & Tl 2leg gATIa=Y 7T &7

(A) THT, Sheell, IEHT (B) ¥, @R, 4T
(C) FRe, dfest, TRl (D) AT, 3{eTel, 7R

QO002: The average of 10 numbers is 30. It is later discovered that two of those numbers 15, 23 were wrongly
written as 51 and 32. What is the correct average accordingly?
(A) 32 (B) 30 (C) 34.5 (D) 25.5

Q002: 10 TEIATHT T 3 gd 30 &1 ¢ & Uar Ioiar § f& 3985 & & &IV 15,23 & TAT 9T ITerdl

¥ 51 3R 32 fag & a1 | degER | a4 g
(A) 32 (B) 30 (C) 34.5 (D) 25.5

QO003: Where is the Adhai din Ka Jhopra located?

(A) Rajasmand (B) Khetri (C) Kishangarh (D) Ajmer
Q003: 376TS fe&eT &1 SNUsT gl YT &2
(A) TTSTEHG BEICIER (C) forereTeTe (D) 35TFR

QO004: Select the correct order based on increasing city area (from small to big)

(A) Jodhpur, Jaipur, Kota, Bikaner (B) Jaipur, Jodhpur, Kota, Bikaner
(C) Bikaner, Jodhpur, Jaipur, Kota (D) Bikaner, Kota, Jodhpur, Jaipur
QO04: IGd &1Fhd & JMUR T AL H T HH H TIA H{ (BIC ¥ d3 d&)
(A) SR, ST, hleT, sl (B) ST, SR, ST, eIk
(C) STPTT, SR, STAR, hleT (D) SYehTeR, SIeT, SR, ST

QO005: According to Jane Jacobs (1961), a city can achieve “Eyes on the Street” by adopting which of the following

strategies.
(A) More police on the streets (B) Removing buildings facing streets
(C) Tall and opaque boundary walls (D) Sufficient buildings facing streets

QO05: SioT Siehed (1961) & IHTER, Teh Y TGS H @ fohdd 0T @I Tefel Hieh "Hsh W
ToN" g X Fohell ¢

(A) g3l T 31T gford (B) HS& T 3R @dr g‘é SART I geTe
(C) FET 3R 3R aREay (D) S HT 3R q@A &5 TATA FAR
QO006: Following in not an interpolation technique used in GIS

(A) Kriging (B) Inverse Distance Weighted (IDW)

(C) Buffering (D) Trend surface

Q006: T & & S3MSTH (GIS) H IYIRT FI FATeY aTell SeIANIRIT dehelleh 8T 8

(A) Topfatar (B) So1ad f3¥dH aes (Ibw)

(C) THRIT (D) ¢8 &y
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QO007: A man said to a lady, " Your mother's husband's sister is my aunt" How is the lady related to that man?
(A) Mother (B) Sister (C) Aunt (D) Daughter

QO07: U JTEGHT o Teh Hfgll H &gl, "JFERI Al & Ul & g1 AL 31 & 39 Afgell &7 39 3 § F2
YT §?

(A) #T (B) SgeT (C) =il (D) Sér

QO008: Which of the following is not a common style of the architecture of Rajasthan?

(A) Haveli (B) Jharokha (C) Turf roofs (D) Stepwell
Qo08: fies # & HleTdl TSTEUTT T Aol T AT AT e 82
(A) &delr (B) SRI@ET () Tk Fr o (D) STaSr

QO009: Find the pair of numbers that doesn't belong to this group:

(A) 96-108 (B) 16-18 (C) 56-63 (D) 86-99
Q009: 351 HEAT3 T oA Wiel S 36 FHg ¥ Hafta w1g1 &
(A) 96-108 (B) 16-18 (C) 56-63 (D) 86-99

QO010: A letter that is sent to all concerned offices is called:

(A) Notification (B) Personal Letter (C) Office-Order (D) Circular
Q010: FE I IfY @l Haftd Fraferat &1 I frar amar & a 39 Fea &
(A) TR (B) SafFeTd I (C) FraTerT-3meer (D) o=

QO011: Comprehensive principles of town planning in ancient India are described in:

(A) Ramayana (B) Mahabharata (C) Manasara (D) Hanuman Chalisa
Qo011: Ui HARA H IR A & arash Reyial &1 aule gud fRar am=m &:
(A) TTHTIOT (B) HAGTHRA (C) ATAER (D) GTAT ATelTAT

Q012: 'JcIeT’ s, &7 TiA-faeade §

(A) T+cTER (B) UfcT+318X (C) IA+T&TRX (D) IeAT+378TX
QO013: Jasnathjis, the inhabitants of , are known as fire dancers?

(A) Katariasar Village (B) Kalibangan (C) Neemrana (D) Kolayat
Q013: SIHATYS, ST I’ T &, & foAardr &2

(A) FETRIATE T (B) ShTeITSIMT (C) AT (D) Fremrd

Q014: Under AMRUT scheme, cities with a population of one million or more, the central assistance is limited to

(A) 1/3rd of project cost (B) 25 percent of project cost

(C) 50 percent of project cost (D) 55 percent of project cost

Q014: 33 (AMRUT) ATl & T6d, 8 o1 AT 3T ATEET arel 26X 7 HET wergar i dar 7
(A) IRINSTAT SRTT T 1/3 HTT (B) URANSTAT AT &7 25 Ffaerd

(C) RIS et &I 50 Fiderd (D) IR @1 &M 55 Fiderd
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QO15: Fill in the blank. EDC, __, KJI, NML, QPO

(A) HGF (B) JKM (C) CAB (D) GHD
Qo15: Rerd =T 1| EDC, |, K, NML, QPO
(A) HGF (B) JKM (C) CAB (D) GHD

QO016: The purpose of enacting Land Acquisition, Rehabilitation and Resettlement Act 2013 to replace the Land
Acquisition Act 1894 wasto

(A) protect areas under forest cover against land acquisition

(B) enhance land acquisition for industrial projects

(C) enable affected land owners to legally claim fair compensation

(D) identify suitable land for expansion of growing cities

Q016: $fF feargor IfAfea 1894 T YFEATIT el & AT A RITEUT, IoAaTe 3N IodTd
AfRfaga 2013 A IRAFART A @1 3caT ,

(A) Tl & JHeTd 31Te drer &1 @ fF 3rfterger @ s=e

(B) 3t a3t & fov sffA sfergor 7 gefa

(C) FerfaeT $ff& Aferehl T Hrefelt T & 3T H3TAS! T ATal A H F&TH Tl

(D) St B o AEAR & v Iugerd offA T ggare

Q017: What are the two key factors required to be strengthened to enable ULBs to prepare city plans and also
implement them?

(A) Capacity building and resource availability

(B) Engage financial consultants and increase resource inflow in ULBs

(C) Enhance office space of ULBs and training of employees

(D) Increase the number of women employees and provide housing in ULBs

Q017: U I AET T TISTATT IR el 3R 3¢ ol el A H&TH Tellel & foIv ot a1 yoq@
el Bl AT FA T JEIRT g?

(A) &TFAT 0T 3R FETYA 3Usydr

(B) gueret # fachg elgeshRl &1 fgfea 3R Gamer=i & varg &I Ferer

(C) JUoTeT & Aol T 3R HAURAT & GiRIeTor # o

(D) ATl HHTRAT T HEIT TGl AR Juorel H AT Tl HAT

Q018: Which of the following is a type of attribute data of a GIS layer

(A) Symbol (B) Unit of measurement  (C) Integer (D) Pixel
Q018: SITSUH WX (GIS layer) ST HIeTHT Teh YehR T TICSIC (attribute) ST &2
NEGIED (B) ATT HT SHTS (C) quTien (D) AT

Q019: Who among the following Kings had built the Fort of Chittor?

(A) Chitrangada (B) Samprati (C) Devavarman (D) Satadhanvan
Q019: FAFATafET T3 # & fohaer fdls & foherm setamr ar
(A) FRrTeTer (B) EFoT (C) SaaH=T (D) HAETTdsT
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Q020: Internationally, a Megacity is defined as one whose population is at least

(A) 10,000,000 (B) 1,000,000 (C) 20,000,000 (D) 5,00,000
Q020: 3RASEIT TR U, Teh HIMAET FHI IR g8 UeX § ToTah! STaa&dT HF F S &
(A) 10,000,000 (B) 1,000,000 (C) 20,000,000 (D) 5,00,000

Q021: What is “PCU” referred in a traffic volume survey?

(A) Passenger Carrying Utility (B) Passenger Coding Utility

(C) Passenger Car Unit (D) Passenger Composite Unit
Q021: ¢ftheh alegd FETUT H Hefdd "drEg" & &?

(A) R HRar Ffefordr (B) SR aifSar gieferdy

(C) SR &R e (D) YR uifae e

Q022: During colonial rule (1757-1947) the capital of India was moved from to Delhi .
(A) Mumbai (then Bombay) (B) Chennai (then Madras)

(C) Kolkata (then Calcutta) (D) Hyderabad

Q022: 3fAafIe AT (1757-1947) F ERIT HRA T TS & ool TARTRT fFar a=r
qr|

(A) HES (e STFd) (B) UeeTS (T FHGTH)

(C) IeThTAT (A FrefehelT) (D) geTeTE

Q023: What is the resolution of bands 1 to 7 of Landsat-8?

(A) 60 Meter (B) 15 Meter (C) 30 Meter (D) 100 Meter
Q023: ofsdT-8 & d5 1 A 7 & NaAlogre FT §?
(A) 60 Hrex (B) 15 HeX (C) 30 #HrexX (D) 100 HreX

Q024: The ‘Bio-medical waste’ as defined the Rajasthan Municipal Act, 2009, does not include .
(A) Microbiology and biotechnology waste (B) E-waste
(C) Animal waste (D) Human anatomical waste

Q024: ISTEATA IR AT, 2009 H gRANNT 'Sa-Fafercar s & enfde 87 g1
(A) G&H Shg faareT 3R otg Wiedfrehr mfse (B) $-er
(C) 9 3rTfRIST (D) ATeTa IR 3qfRIse

QO025: Sustainable design of a residential area must be provided with ____.
(A) PVC pipes for water supply

(B) Recycled water supply system for flushing and landscaping

(C) Deep tube wells and underground water storage

(D) Eucalyptus trees along the boundary walls

Q025: Teh TATHIT &7 & &reiaifoleh (sustainable) 38T & & O1Y verd fohamr e anfgw|
(A) Tl @1 3Tgfc & fow Al sy

(B) FeIfRIeT 3R Us-diel Ta SRR F fov qeeTdielieRoT St Jmgfc somel

(C) B AerpT IR AT STeT $isROT

(D) IR X Al & Iz
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Q026: Which of the following cities is nicknamed "Blue City"?

(A) Jodhpur (B) Jaisalmer (C) Kota (D) Bikaner
Qo26: fAFfaf@d & @ fha wex &1 3u=H "so A" 82
(A) STErgT EEE (C) et (D) SrepralR

Q027: Who built the first temple of the Five main temples of the Dilwara temples of Mt. Abu?

(A) Vimal Shah (B) Vastupal (C) Tejpal (D) Bhima Shah
Q027: AT3E 3119, & feerarsT AT & o g Al & ¥ g AfY Frder Sevarar ar
(A) fasrer amg (B) aTEATSr (C) TroTaTer (D) #frT erE

Q028: The number of towns covered by Atal Mission for Rejuvenation and Urban Transformation (AMRUT) is

(A) 300 (B) 100 (C) 400 (D) 500
Q028: YeTsiiael 3R LG FAIRYT & T el AU (AMRUT) & 3HcTeTd Tffer fhu aTw Qreg’d & dear &
(A) 300 (B) 100 (C) 400 (D) 500

Q029: Who designed and conceptualized the Albert Hall Museum (Central Museum) of Jaipur?

(A) Sir Swinton Jacob (B) Lord Mountbatten

(C) Albert Einstein (D) The Prince of Wales

Q029: SR & 3Heae giel FURGTIT (HFArd HIglerd) dI 3rser R aquron fhger dgrR $r o
(A) TR TegeeT Stehe (B) oI ATSCaes

(C) 3TeaE TSEA (D) deH & TSTHAR

Q030: PMAY-U adopts a demand driven approach where the housing shortage is identified based on demand
assessment made by

(A) States and Union Territories (B) HUDCO

(C) Real estate companies (D) Ministry of Housing and Urban Affairs

Q030: PMAY-U T&h HIIT FaTfold TISCHIVT IIATAT &, @l HTard I AT & ugdid ___ & ganT fhu 9w
Hediehel & YR 9 & ST §

(A) T=aT 3R Fg fAa geen (B) §8hT (HUDCO)

(c) RIrer veee sufaar (D) 3marg 3R el A & HITO

Q031: Which one of the following parameters is not used for delineating the Planning Regions?

(A) Green and forest cover (B) Green House Gas emissions

(C) Land ownership and land uses (D) Traffic volume of goods

Q031: FaAfaf@d & & +ia a1 Wrefex Iiear &3 i TRAT 9= & v 3uAter &7 fmar Jrar &2
(A) BT 3R STl Hax (B) et 138 T IS

(C) ff& o1 T 3R ff& 3T (D) AT UREgeT el AT

Q032: The most celebrated book written by Jane Jacobs is

(A) Life and Death of American Cities (B) Tale of Two Cities

(C) Cities are Gold Mines (D) Death and Life of American Cities
Q032: S Sehed EaRT fAfld Ted 9ifey g §

(A) TS UZ 3Y 3% 3ANFT BT (B) ¢ 31w T f&der

(c) &S 3 aMes AT (D)UY TS dsh 3% 3ANFA [d
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Q033: Mohan bought coconuts worth X14,000. It took an additional cost of X 1500 to bring it to the shop. If the
total number of coconuts is 800 and Mohan sold it at the rate of X 23 per coconut, then what was the profit he
made?

(A)X 2700 (B) 2900 (C)X 2600 (D)X 2800

Q033: AlgT & X 14,000 & ATRIT TS| wwaa?mﬁrﬁﬂsoowaﬁﬁaﬁ@?iWI Ife Fel

mﬁuﬁ@rﬁwsoo%aﬂ?mﬁﬁizsQﬁmﬁaﬁ@raﬁaﬂ%mﬁwmmﬂ?ﬂ?
(A) X 2700 (B) X 2900 (C) X 2600 (D) X 2800

Q034: On the subject of protection of environment, according to the Rajasthan Municipal Act, 2009 a Municipality
may not undertake which of the following functions?

(A) Burning of tree leaves (B) Promotion of social forestry

(C) Organization of flower-shows

(D) Establishment and maintenance of nurseries for plants

Q034: TATAROT & HIETUT & &1 &, AU IR HRAAAH, 2009 & AR Ueh IR TTfeihl
el & @ T T FF A TR Toha 7

(A)US & Tdl T STkl (B) HTATTST dTfelehl &l Srar

(C) Foell T TELTelr &1 3ATSTel (D) et & T ¥ 1 T IR [TREE

Q035: She said that when she was a small girl she could stay up for as long as she liked. (change from indirect to
direct speech)

(A) She said, " When | am a small girl | could stay up for as long as | liked"

(B) She told," When | had been a small girl | could stay up for as long as | liked"

(C) She told, "When | was a small girl | could stay up for as long as | liked"

(D) She said, " When | was a small girl | could stay up for as long as | liked"

QO036: If, X:Y=3:4, then what is 4X+5Y:5X-2Y?

(A) 4:3 (B) 5:2 (C) 7:32 (D) 32:7
Q036: TfE, X:Y=3:4 &, A 4X+5Y:5X-2Y foraar glem?
(A) 4:3 (B) 5:2 (C) 7:32 (D) 32:7

Q037: Land consolidation and readjustment through Town Planning schemes have been used in Gujarat for
almost

(A) 75 years (B) 25 years (C) 50 years (D) 100 years

Q037: I[ERTd # 3+l CAlfidl AT o ATETH § fA Tehalcl 3R YeT: FHGNISI I SUJNT oIaTe7aT
oo & v fFda aag ¥ Far Sirar @7 82

(A)75 91T & (B) 25 ITT & (C)50 TTT & (D) 100 Tl &

Q038: Which among the following street pattern is followed in Chandigarh City?

(A) Radial pattern (B) Organic pattern (C) Loose pattern (D) Grid iron pattern
Q038: T3RTG X H fA=ifaf@ad & & fFg e dead &1 e forar a3 g2
(A) If3Ter Hest (B) 3iraffo¥en et (C) ofaT Yeat (D) I8 3T Yt

Page 6 of 21 Internal Code: X1 BOOKLET TYPE: P



Q039: Which diagram is preferred to show the data in a series in which some values may be very small and some
very large?

(A) Multiple bar diagram (B) Simple bar diagram (C) Broken bar diagram (D) Percentage bar diagram
Q039: T #H@ell # T fewrel & o, s 3o A1 g ol IR $& Tgd I3 &, FiA A1 3RA
gde foRar Sirar g2

(A) THITOF IR NG (B) FTURVT SR IHRW@  (C) el &3 SR IR@ (D) 9fderd SN 3@

Q040: 1 acre land is equal to sg.mt.

(A) 10,000.86 (B) 3046.86 (C) 5046.86 (D) 4046.86

Q040: 1 Uehg fA T AR & TR &

(A) 10000.86 (B) 3046.86 (C) 5046.86 (D) 4046.86

Q041: According to Census of India, the percent population living in urban areas grew from in1951to___ in
2011.

(A) 17, 31 (B) 21, 33 (C) 16, 31 (D) 17, 35

Q041: {IRA I STITOTAT & ITER, ALY &A1 H IgeT arell STATEAT i gfaerd 1951 & T Fea
2011 H gl |

(A) 17,31 (B) 21, 33 (C) 16, 31 (D) 17, 35

Q042: Reena, Meena and Tina started business by investing 15,000, 18,000 and X25,000, respectively. If there
is a total profit of X 23,200 at the end of the year, then what is the profit of Reena if profit is distributed in ratio of
the investment?

(A) X 6000 (B) X 3600 (C) 4000 (D) X 4500

Q042: Taam, Faar 3R ST & HALA: 15,000, 18,000 TAT 25,000 TIMHY ATIR XA fhar| afg av &

37 # 23,200 HT Fol AT @1 Al SfeTcT & IHeqared H qeAr 1 ey foheiarr 7
(A) % 6000 (B) % 3600 (C) % 4000 (D) % 4500

Q043: Which of the following buildings is not in Udaipur, Rajasthan?

(A) Jag Mandir (B) Samode Haveli (C) Eklingji Temple (D) Bagore ki Haveli
Q043: fAF=Taf&d & & Sl SARA eI, AU & gl 2
(A) ST AT (B) ETHIG gdell (C) Tehfelvrsl AfT (D) SR T gdelr

QO044: Devi Kund near Bikanerisaroyal __ ?

(A) Museum (B) Bathing Ghat (C) Crematorium (D) Open well
Q044: SIehTaR & U Sdl $3 Th ALY g?
(A) HaTgTer (B) &=ATeT ©TE (C) eFRITeT (D) TGeT 3T

Q045: Which among the following districts of Rajasthan does not share a border with Pakistan?

(A) Jaisalmer (B) Sri Ganganagar (C) Jodhpur (D) Barmer
QO45: TSEYT & fasaAtaiEad # & forg Sl i T aifehedial & a1 ¢ fHAerdr &2
(A) ST (B) A IETIR (C) SirergY (D) STSHT
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QO046: Rajasthan is the largest state in India by area. What is its rank in terms of population as per Census 20117?
(A) 4th (B) 1st (C) 8th (D) 12th

Q046: &TFthel & TRETT & ITCTEUTH R &I HH &7 T g1 2011 S SO & AR STHE]
Fr TR T SSITATA I TATT HidT 8?

(A) e (B) 9goIT (C)8 ar (D) 12 &t

QO047: What is the intended goal of HRIDAY scheme?
(A) Rejuvenate Heritage towns and cities (B) Regeneration of encroached urban parks
(C) Resolve problems of small and medium towns (D) Build New Towns near waterbodies

Q047: T&H (HRIDAY) TISTolT bl 37T o8 FIT g2

(A) TaTTaT arel FEar 3R e FF BT T Shad e

(B) JTTIshTAT AT TTehl & Jeldetik (C) B¢ 3R A AR T HEAT3NT T AT
(D) STITRIAT & 9TH T QeI ST

Q048: On which lake is the Udaipur Solar Observatory located?

(A) Lake Jaisagar (B) Lake Pichola (C) Lake Fateh Sagar (D) Lake Baikal
Q048: 36T HR aErerer fhe siiel W F&ud g2
(A) SITERR 3fier (B) Rroter sfter (C) Plg HFR ST (D) ShTeT el

Q049: Which among the following is not a charge payable by the developer while developing township?

(A) Conversion Charges (B) Lease Charges

(C) Vacant Land Charges (D) Stamp Duty

Q049: FFAfATET & & HleT AT Yook AR AT FA FHT STAN @RI &F 8T o7
(A) FATROT Yeh (B) ofIST Yo (C) R 1f& Yoah (D) TEIF T STET

QO050: In determining whether a building is unfit for human habitation which of the following is not a critical

parameter?
(A) Water-supply conditions (B) Number of floors
(C) Freedom from dampness (D) Drainage and sanitary conveniences

Q050: FAFATAIEIT & & Siaaar Wrelex, g8 FURT F 7 fF Fa1 F1g 3ART AT 3@ & fow
3IGF &, Heca Ul el &?

(A) 91T T 3R r Feafa () AT & F&aT

(C) 1 & AFT (D) ST fovarelr 3R Facodr watl giaure

QO051: Two primary types of data model (format for storage) used in GIS are

(A) Raster, Vector (B) Date, Time

(C) Volatile, Permanent (D) Discreet, Continuous

QO51: SIS (GIS) H 3UANT fhT ST dTel &F MATAS YhR F 3T Al (BT BR FTERA) &
(A) TE, dFeX (B) faf, &Har

(C) 3T, Ty (D) f[3Ehre, fa}
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Q052: Which of the following is not a proposed satellite town according to Master Plan Jaipur 2025?

(A) Bhiwadi (B) Bassi (C) Chomu (D) Bagru
Q052: AT Tellel SR 2025 & ]8R TG # & Hied &1 GEATdT HCASE 3T eI &2
(A) fFarsr (B) SEET (C) =, (D) FIT&

QO053: Which of the following parameters is not governed under zoning regulations?

(A) Density (B) Household size (C) Plot size (D) Height
Qos3: AFfaf@d & ¥ &l @1 WA AfAer FIAT & dga FIHT 87 &2

(A) GeTca (B) BRT # We&dl shr wear

(C) Tl ST 3ThR (D) FTS

QO054: What are the four stages of Friedmann’s (1966) core-periphery model ?
(A) Pre-industrial — Transit oriented — Industrial — Post-industrial

(B) Pre-industrial — Transitional — Industrial — Liberal

(C) Pre-transitional — Transitional — Industrial — Post-industrial

(D) Pre-industrial — Transitional — Industrial — Post-industrial

QO54: ISH (1966) & HR-IRA Alsel & IR TXOT FAT &7

(A) [@-3e@areh - IR 3eAE - @ - 33w
(B) qa-31cAfAe - HshAvTTeN - A - 3a)

(C) Ya-HHHUTHIeNST - HhHUTHION - JHIgAah - Fa-3eA s
(D) q&-3lea A - HehAvTarels - 3Meafae - Iav-3ieaifes

QO55: Following in not a type of spatial data used in GIS

(A) Line (B) Symbol (C) Polygon (D) Point
QO55: SIMSTH (GIS) FH 3YINT fhT AT el Teh YhR FI TATT-Hael 3T S8 & 71gT &
(A) @1 (B) Siciteh (C) g3 (D) feig

QO056: The Tropic of Cancer passes through which district of Rajasthan?

(A) Udaipur (B) Banswara (C) Dholpur (D) Baran
QO56: Fheh IWT ISR & fohdy TSTel & BreRT TR &7
(A) 3EIR (B) STHATST (C) glerqR (D) IRT

QO057: Which Godess is worshipped during the festival of Gangaur?

(A) Goddess Kali (B) Goddess Lakshmi (C) Goddess Durga (D) Goddess Gauri
Q057: IUEIN & g W fard gy &1 qamm & ST g2
(A) T aprelt (B) &aT or&Y (C) T gt (D) T iRy
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QO058: In a large multi-stroey group housing design, blocks must be placed at a minimum distance from each other
sothat .

(A) There is a central park in the middle

(B) One block does not obstruct natural light and ventilation of the next block

(C) Two trees may be placed between one block and the next

(D) Every house has a balcony

Q058: Ueh §3 HeLI-ECRT U FT3TA f331se H, scllehl I Teh q@X @ HH & HH Sell g0l W @M ST =AM
afes |

(A) T & T Fed U &

(B) Teh Selleh GER Selleh & WTehfcieh Yehrl A arg Hellelel (ventilation) & &TUT @I STel

(C) U selleh 3R gER Sclleh & oI &1 U8 el S Heh
(

D) &Y TR H aTolahal &&

QO059: The average of three numbers X, Y and Z is 45. In that, X is 9 more than the average of Y and Z and the
average of Y and Z is 2 more than Y, accordingly what is the difference of X and Z?

(A) 5 (B) 7 (C)11 (D) 3

Q059: el TEATIT X, Y 3R z T 3T 45 &1 30H X, Yy dUT 2% 3iad & 9 31f¥F § 3R vaur zar 3iwa va 2
318 B, el @R X TUT 230 3R fohefalr 82

(A) 5 (B) 7 (C)11 (D) 3

QO060: The Smart City Mission was launched by the Government of India in the year:

(A) 2015 (B) 2001 (C) 2005 (D) 1997
Q060: HRA THR AR TATE THET TARweT T eamd vy 7 Fr g oA
(A) 2015 (B) 2001 (C) 2005 (D) 1997

QO061: Rajasthan also played an important role in the freedom struggle of India. At which place in Rajasthan did
the 1857 rebellion start about 18 days after Meerut?

(A) Bikaner (B) Naseerabad (C) Erinpura (D) Kota

Q061: TSTEUT o §ff AR & FAATAT HIAH F Ageaqul s Wemmg| o=t # fFa ¥4I WX 1857 &7 fagle
ATS & T 18 foT a1 Y g3 AT?

(A) FAT (B) FAHRTETE (C) TReTRT (D) reT

QO062: A profit of 5% is made even after giving 16% discount on an item. Accordingly, by what percentage is the
marked price of that article more than its cost price?

(A) 25% (B) 18% (C) 21% (D) 15%

Q062: TRl ¥ W 16% BT ool WX 3 5% T AT UIed 81 Sl 1 dea8R 30 a¥q &I Jfehd Hed 38%
AN Hed A fohdel ferd S3rer g2

(A) 25% (B) 18% (C) 21% (D) 15%

QO063: In India, the role of Government agencies with respect to improving housing situation, changed from
Provider to Facilitator during .

(A) 1960s to 70s (B) 2000s to 2010s (C) 1970s to 80s (D) 1950s to 60s
Q063: AR H, & SR 3Mard @ RAfd & guR & d6y & @R THfaat S i gerdr @
gy 7 deer TS|

(A) 1960 & 70 & TH H (B) 2000 ¥ 2010 & &eH H

(C)1970 & 80 & &Hh H (D) 1950 & 60 & GAF H
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QO064: The latest national housing policy was announced in 2015. It is titled .
(A) National Housing Policy 2015 (B) Model State Affordable Housing Policy (2015)
(C) Model National Housing Policy 2015 (D) Housing for All 2015-2022

Q064: 2015 H AATAH ISET HETH Alfd 6 Avom i 15 Y| sHer s g
(A) TS 3MaTH oNfd 2015 (B) AlST T 3THISS ATAMT afd (2015)
(C) ATsel TS 3Tarw =Nfd 2015 (D) T & forT AT 2015-2022

QO065: As per URDPFI, 2015 in a Neighbourhood which of the following facilities need not be within a walkable
distances of 600-800 meters to reduce dependency on automobiles?

(A) Convenience shopping (B) Creche

(C) ATM (D) Sports facilities

QO65: URDPFI, 2015 % 38R Teh Higed H JeiAlase W AT & %d el & fov efaf@d & @ i
AT giawm 600-800 HeX HT el AT gl & IR gl S Gl &2

(A) @R #r giaer (B) Hd

(c) wéres (D) QT Ffaemd

QO066: Who out of the following, coined the principle “Diagnosis before Prescription” for good town planning?

(A) Lord Mountbatten (B) Patrick Geddes (C) Kautilya (D) Mahatma Gandhi
Qo66: FAFATATET 7 @ forea 3! TR Aol & AT "6 @ & ggel Hee" #1 feuia er
(A) oS FAT3cac () ¥fgew AsH (C) FifeeT (D) FGTCAT ey

QO067: The 74th Constitutional Amendment Acts of India empower which of the following?

(A) Women (B) Minorities (C) District Magistrates (D) Urban Local Bodies
Q067: XA T 74aT Tidund Hevaa e Fafaf@a & & 59 ged ST &2
(A) Afgema (B) cUdETH (c) e AfSEe (D) AT TAT AT

Q068: Which of the following is not a type of spatial analysis carried out using GIS software?
(A) Recode (B) Mail merge analysis (C) Buffer analysis (D) Overlay analysis

Qo068: FFAAI@T & & Fiaar SNIMSTH (GIS) FFEAIX FHT ITAT T [HUT T TS fFAT0T F7
U 6l &7
(A) Rers (B) AT faelleT f@2elwor  (C) 9 Ta2eiwor (D) 3fa’er Tageiwor

QO069: As per the URDPFI 2015, which among the following is an example of land assembly technique?

(A) Land reservation (B) Land cover (C) Land utilisation (D) Land management
Q069: URDPFI 2015 & 3JdR, fAw=ifaf@d & & slaar offd TS dehelleh T Teh 3eTeXor g2
(A) 3f& 3TRETOT (B) 11 &1 3MTeoT (C) A 3T (D) $fF TeereT

QO070: From the following, which one is odd one out?

(A) Adam Smith (B) Clarence Arthur Perry

(C) Lewis Mumford (D) Clarence Stein

Qo70: FafafEaa & & i a1 faws g?

(A) TsH femy (B) Fell® 3TN O (C) J&H AHGIS (D) FoET 1A
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QO071: Find the odd one out
(A) PRNM (B) CaGBN (C) AEIO (D) PQXZ

Q072: Which among the following is a probability sampling technique?

(A) Referral (B) Systematic (C) Complex (D) Pragmatic
Q072: [AFATITET 7 & hieT Teh IITAShAT AHARIOT Tehaileh &2
(A) YT (B) RrEcAes (C) PlFcoFd (D) WTHEH

Q073: A plot measures 120 sg.mt. A building of 180 sq.mt. built-up area with six equal floors is constructed on
this plot consuming maximum allowable ground coverage and FAR. What are the maximum allowable ground
coverage and FAR of the plot?

(A) Ground coverage = 20 sq.mt., FAR =1.35 (B) Ground coverage = 30 sq.mt., FAR = 1.5

(C) Ground coverage = 10 sq.mt., FAR=1.0 (D) Ground coverage = 15 sq.mt., FAR = 1.25

Q073: Teh Tolic 120 FIHIET FT &l 3H Tolle W O Hioldl I U Ha, fa@er AT &7 180 aadlex
&, &1 AT 31fFdd TP A33 Falsr 3R THUINR (FAR) FT 3TN i fHAT I—T §1 Tl &1
3 aH TR T35 Hadel iR THEUIR F47 82

(A) AT38 Falsl = 20 FIT HeY, THUIR = 1.35

(B) A3 Fasl = 30 FIT HEY, UHTIR = 1.5

(C) IM38 Fasl = 10 FIT A, THUAR = 1.0

(D) IM3T Ha¥sT = 15 gIT HIeI, THUNR = 1.25

QO074: In an urban context, higher land values tend to trigger the process of invading residential land use and
establish:

(A) Transport related use (B) Public and semipublic use

(C) Commercial use (D) Parks and playground

Q074: AL TG H, 3= {IA Hed G A IWANT A FH Hd § TaA Aedfaf@d &
T F&lel I o

(A) IRagsT el 39T (B) ATdSTeIsh 3R Y-Taeifaies 3UAET

(C) STTgETAS 39 (D) 9T 3R Wel &1 Her

QO075: What is the use of a Ferrule in water supply?

(A) to evaluate water quality

(B) to join two pipes and make the connection water tight
(C) water metering

(D) to filter tap water

QWS:W@T&ITQ?—TJETWW(Ferrule)a?rwmﬁ?

(A) Tt ST IOTEET H ST A & T

(B) &Y UISUl I Asar & AT 3 FAFUT T A Vef (deT ) F & T
(C) Treir Fr dATSST

(D) el & UMl &l Blelel & folT
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Q076: Which among the following statements are correct with respect to Rajiv Awas Yojana (RAY) in 2011?
1. States can assign property rights by way of land or built-up space to slum-dwellers
2. It discourages private sector participation
3. Central grant is up to 50 per cent of the cost of slum development/improvement

(A)1,2and 3 (B) 1and 3 (C)1and 2 (D)2 and 3

Q076: 2011 & Taid AT AT (RAY) & IeY H fFeafaf@d & & Slaq Faa @gr g2
17T SEN-Sisal # T arell 1 {fAEs a1 AT T H Fuld & HRwR dia dhd §
2.7 Ao i 1 emefiedy &l galcaried i &
3. Told AE/gUR & R1T & 50 TARIT T $eald el &

(A)1,2 3R 3 ()1 3R 3 (€1 3R 2 (D)2 3R 3

Q077:1n 1985, The Model Town Planning Act was replaced by a new one called .
(A) The City and Regional Development Act

(B) The Model Town Planning Law

(C) Model Regional and Town Planning and Development Law

(D) Town and Country Development Act

Q077: 1985 H, ATSHT eI3eT TAIfAAT TUdke @Y #ATH® Udh oIU Ude & dcof AT I/ |
(A) R 3R e e sfafas

(B) AISST €T3 Telliotal ahlefal

(C) Arser & 3R TR A AR e Freger

(D) TI3+T US el SdoTIdC Uac

Q078: What is an example of third tier governance in Urban India?

(A) State government (B) Development authority
(C) Reserve Bank of India (D) Municipal council
Q078: HRd #H R FdX & 2MH T AL IETE0T 4T g7

(A) ST PR (B) faerar anf&rentoT

(C) 7RI Rera 9+ (D) PR gRRWg

Q079: What is a peri-urban area?

(A) A growing sub-nodal centre away from the primate city without any functional link
(B) A town located nearby to a primate city connected through transit link

(C) Urban to rural transition at the city core

(D) Rural to Urban transition areas at the urban periphery

Q079: I-37e=T TRAT FT §?

(A) o= forlt hrficareh fofeh & gTsdie RS @ ¥ U aodl g3 3u-Alse $ig
() gifSTe foleh & ATETH @ S5 Us rgAc A & g Byd v+ MR

(C) e & Fg H gl &aF &7 AT &F H gRadT

(D) gy g & mefior &7 1 Ay &7 # gRadaT

QO080: Simple interest on an amount after 6 years 3 months becomes 3/8 of that amount. What is the rate of
interest?

(A) 8% (B) 7% (C) 5% (D) 6%
Q080: fF&EY T W 6 a¥ 3 ATE §Ic ATURUT AT 3T ATA FT 3/8 B SATAT g1 sATST HT &I HI IABT|
(A) 8% (B) 7% (C) 5% (D) 6%

Page 13 of 21 Internal Code: X1 BOOKLET TYPE: P



QO081: According to Rajasthan Township Policy, 2010 it shall be compulsory for all urban local bodies, that after
receiving of application from the developers, registration certificate is issued within:

(A) 90 days (B) 60 days (C) 30 days (D) 45 days

QU81: [T 3R i, 2010 & TaR @l 2l Ty el & fov g ey gen &% Sqoua @
3TdGsT UTCd F¥A o §IG, GolhoT JATOT 9 _ & SRy fohar o

(A)90 f&=T (B) 60 Tt (C)30 e (D) 45 fe=T

Q082: Apart from extrapolation of past trends, future population of a metropolis may be estimated on the basis
of:

(A) Capacity of public transport system (B) Employment prospects

(C) Area of parks and open spaces (D) Capacity of sewage treatment plant

Q082: TSl ATeAT o SigdRIeT (extrapolation) & 3Teldl, fohell HEIR & TAST I SHAHEAT HT IFAH 38 MR
IR ST ST Fhl &

(A) FTdSifeier afagel JomelT &1 &THdT (B) TSTTX hT HHATIT

(C) uTehi R Gt T FT &1 (D) ¥t Slede Tl & &THdar

Q083: What is “net residential density”?

(A) Number of dwelling units per acre of land area particularly used as dwelling

(B) Number of dwelling units per acre of land area

(C) Number of dwelling units per household

(D) Number of households per acre of land area

Q083: "YYEH AT Teled” FAT g2

(A) faRIY &0 & @M & & # 3YAT # A dlell I Tehs A &1 H T seprsal S q&ar
(B) 9T Tehs ${f&A &7 & AR Shisdl Hr dEdr

(C) 9Ty IRAR TaTEIT Shsdl dhl & (D) 9T Tehs offF &1 # aRani & dear

Q084: Which one of the following statements with regard to Floor Area Ratio is not true?
(A) The higher FAR available to a developer, the taller the building can be

(B) Low-FAR project usually means shorter buildings, lesser population density

(C) The plot size does not affect FAR

(D) The FAR value is determined by local municipal corporations

Q084: THU3R (FAR) & TEY H fafaf@d & & i AT YT AT el &?

(A) T&h 3TAR & ToT fSaar 3186 THUR 3Uced 8T, SARG 3del &7 >dr & dohdl ¢
(B) FH-THUINR IRANSTAT T AT HAR W BIET AR, HH FTAGEIT Golcd

(C) TTe T 3THR THUINR & AT a6l Ham ¢

(D) BTN Fed TANT IR AerAt g fReflka fear siar &

QO085: What was the purpose of creating Delhi Development Authority?

(A) Develop nearby towns and cities (B) Develop Delhi according to Lutyens’ plan
(C) Prepare a long term development plan for Delhi and implement the same

(D) Rebuild monuments of Delhi

Qo85: fgeelr faerd TIfIRIUT Sallet &7 3eged T AT?

(A) TH-TH & HEsT IR AT F fAhr (B) AfeTH Y AT & IHTAR feeelr &1 faemrer
(©) Reeelr & forw drerenfere fashrd ATl SRR 3R o) e

(D) feeel & TARERT T gATTATOT
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Q086: Two common data structures for representing terrain in GIS are:

(A) Rectangular Grid and Triangulated Irregular Network (TIN)

(B) Elevation and Distance above mean sea level

(C) Perspective and Analytical (D) Digital and Analog

Q086: S3MSTH (GIS) H el (terrain) T FAATIcT H & AT &Y AT ST THAT g
(A) 3maareeR g 3R Beeiy sfaafaa aecas (fF)

(B) 3 T dw & Fars 3R g

(c) aRueT 3R faeevucAs (D) f3fSteer 3R vaATarer

QO087: What is the most essential component of a standard Master Plan document for a city?
(A) Land use plan
(B) Types and location of trees to be planted along the main roads

(C) A central large park (D) Bye laws

Q087: [T AT & HATdeh ARSI Tl &EdIdal bl Ja& 37deTeh Teah T g7
(A) ¥ 3TN Arsfel

(B) A& HShi o foheaT T ST aTel Ust & YehR AR EU=T

(C) T G 3T UTeh (D) 39fTH

Q088: As per URDPFI social infrastructure standards, a primary school is required for a population of:

(A) 2500 (B) 5000 (C) 2000 (D) 1500

Q088: URDPFI FTATISIeh JiAATET & & ATl & 3dR 9fd $r 3mardy & v v gafAs
faeaTera &1 3Taegehdr &

(A) 2500 (B) 5000 (C) 2000 (D) 1500

QO089: According to the last census (2011) India has 7935 towns and cities. Out of them, approximately how many
are statutory towns?

(A) 2800 (B) 1200 (C) 3900 (D) 2500

Q089: ATl STAITUTAAT (2011) & HJHR R H 7935 HES IR AT 81 A8 A oHeT fohelel @At
TR 82

(A) 2800 (B) 1200 (C) 3900 (D) 2500

Q090: " UeH SHfo e Ffn & swd e " - T FT IHAN-FIROT § -

(A) I deserved the medal so | get it. (B) I got a medal because | deserve it.
(C) I got a medal because | deserved it. (D) I get a medal because | deserve it.
Q091: '$[eleFehs’ Use, A TohE Te o1 JIeT g2

(A) Fh3 (B) 37Fh3s 3 (D)3

Q092: I e H 3T &
(A) 3787 (B) 3187 (C) 37TH (D) 37
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Q093: What is the basic geometrical shape of Christaller’s “Central Place Theory”?:

(A) Linear (B) Octagonal (C) Hexagonal (D) Circular
Q093: fhEeTeR & "HilT T AU T Hd SAMATT 3hR 4T g2

(A) Y@ (B) 3rscahiufiy (C) Yeahrofy (D) MR
Q094: Very often we do not get what welong ___ ?

(A) at (B) for (C) about (D) on

QO095: Pick the odd one out

(A) Barley (B) Coconut (C) Mustard (D) Flax
Qo95: fa=T & & faws &1 ot
(A) Sit (B) TR (C) Ixar (D) 37erT

Q096: Which folk dance from the following is a representation of the act of collecting water by the women of
tribal communities:
(A) Chakri folk Dance (B) Chari folk Dance (C) Gair folk Dance (D) Bhavai folk Dance

Q096: AT A @ it AT SNk sJcT MeATH AT I Al GaRT Il Sheal e &
FY A GSRT HLT &
(A) TH{T S T (B) TRY olleh ofcd (C) IR & e (D) 78 Wk e

Q097: Following is the order of importance, from least to most important, of GIS components
(A) Software, data, hardware, liveware, methodology
(B) Hardware, data, liveware, software, methodology
(C) Software, liveware, hardware, methodology, data
(D) Hardware, software, data, methodology, liveware

Q097: SNITSTH (GIS) I & Hged HT FHA, HaH FH § A Fa§ Agcaqul o, feafaf@d §
(A) TTFEATR, 3T, TSATR, ASAATT, N SIeToir
(B) BTSAAR, 3T, ATSTAIR, ATFCAIT, ATl
(C) BT, ATSTAW, FTSAIAR, AASTelvail, SeT
(D) BTEAR, TIFCAIR, ST, AASAioil, ATBIAAX

Q098: In ancient cities, in order to ensure security against invaders, which one of the under mentioned elements
was provided mandatorily?

(A) CCTV cameras fitted outside the city

(B) A high wall and a moat around the city

(C) Wild tigers unleashed every night outside the city

(D) A forest belt around the cities

Q098: THiI=T BT H, HTHAVIHINGT & [T FRam AT el & T, Feafaf@a & @ &l a1 deg HiFary
T & Ykl fohar aram oam?

(A) AT & STET o AT HAX

(B) AEX & TRT AR Tk 4T gar 3R @8

(C) STl &TEl &l &Y I AT § Mg BIger

(D) & & IRT 3R ToT &1F
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Q099: Following is the year of eligibility for registration of slum dweller, for rehabilitation/assistance under
Rajasthan Slum Development Policy, 2012:

(A) 2009 (B) 2011 (C) 2008 (D) 2010

Q099: TSTEUT Ford fashrd #AIfe, 2012 & e YA/HGRIAT & oI Tod faraat & dofieor &
fore arrar @1 av g

(A) 2009 (B) 2011 (C) 2008 (D) 2010

Q100: The book titled "Our Common Future", published in 1987, expressed the urgent need of adopting ____.
(A) Global Technologies in transport sector

(B) Sustainable Development across the world

(C) Floating cities along the coast

(D) Highrise high density built form in villages and cities

Q100: 1987 #H FehIMRIT "3HTaX hiFAl FLER" #AHS GEch o I el T ceehlel HTTLTehdl
ged |

(A) Rkaest a7 # ARaw diezifafear

(B) gferar 8 & &reiaTfeleh (sustainable) faerTd

(C)dT & R R X

(D) Tl 3R et F TS g1 STAE foee wiA

Q101: Who among the following has authored the book ‘The Image of the City’ published in 19607?

(A) Lewis Mumford (B) Le Corbusier (C) Jane Jacobs (D) Kevin Lynch
Q101: fF=TaIi@d & @ fhaet 1960 H TR ‘G SAST 30 & FEr qeae fordh g2
(A) T[SH HABIS (B) o SHIfAIN (C) IT Siehed (D) Hfa=T fo=r

Q102: Which of the following is the most preferred approach for slum improvement by the slum dwellers?

(A) In situ up gradation (B) Loan assistance (C) Relocation (D) Compensation
Q102: F[FMNaIfET ganrT Foid GurR & fav fAwafaf@d & @ ged gader ol sl ar g2
(A) TIEUTEA Seotel (B) OT HEIIC (C) TUTATAROT (D) F3TTarST

Q103: which of the following is the correct sequence of occurrence of post-disaster housing strategy?
(A) Temporary shelter<Temporary tent<Temporary room<Permanent housing

(B) Temporary shelter<Semi-permanent shelter<Temporary housing<Semi-permanent housing

(C) Temporary shelter<Temporary housing <Permanent shelter <Permanent housing

(D) Temporary shelter<Permanent shelter<Temporary housing<Permanent housing

Q103: AFfAET A & 3M9eT & I Fr MEE WEITT T 376 gfed @ F AR FARIT FA
HT T hA g7

(A) T THT<ITEATAT aifs[\<341321|?ﬂ FAIT<TAR HTar T

(B) ITTARN T ITT-TARN THT<IEARN AT FY-TARNY 3TaTH

(C) 3T HTHI<ITART AT <TARY HHT <TURY H1arT

(D) ITEATT TTHI<TATAT TTHI<ITEART HATH<TART 3arH
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Q104: Contemporary perception of a "Smart City" essentially means:

(A) A city with underground metro rail system

(B) Presence of high rise buildings in the core area of the city

(C) A city with very few trees

(D) A city where the services and facilities are managed through IT and Al

Q104: T "FATE X" I THFIONT YROT &7 3fAaT &7 & 7T &

(A) $fAITT AT YoT TUTTST ATl AT

(B) 26X & HEY &1F H el SARA! & uredfd

(C) g A ST FTel AT

(D) Ueh UHT BT ST SEr (IT) AR WIS (A) & ATeIH @ qarsit 3R glRrunst wr geve R s g

Q105: The primary target of PMAY-U scheme is to address housing shortages:

(A) For all income groups by 2022 (B) In small States and UTs by 2023

(C) In younger States and UTs by 2023 (D) In EWS, LIG, MIG including slum dwellers by 2022
Q105: PMAY-U TTSTell &1 WrAfAS oI Tary Sl el i CAETCIE

(A) 2022 T | 3T |l & forw (B) BIE AT 3R hg afdd weel & 2023 dF

(C) 2023 A% o1dNT =t 3T &g T gl &
(D) $5cgUH, TA3NTS SN, TSN, Td FolA arfadl & fod 2022 d&

Q106: Which of the following is the state bird of Rajasthan?

(A) Great Indian bustard (B) Black francolin (C) Emerald dove (D) Indian roller
Q106: AFT # & TIEUT 1 ToF geft Siaar g2
(A) FNSTEOT (B) Soteh Shepiferet (C) T=TT ShecT (D) HRAT Aok

Q107: An effective cost saving device in RCC roof slabs of small building, innovated by Laurie Baker consisted of

A) Usmg permanent red sand stone shuttering

B) Using PVC pipes instead of steel reinforcements
C) Using bamboo reinforcements instead of steel
D) Using small patches of bricks within the slabs

Q107: ST 9T GaRT Aa9afdd BI¢ HasT & ARAE T Fold # Teh JHT oeTd 99 39 # __ nfAer Bl
(A) TUTAT SITel T3 YcAR AR T 3UANT FTeAT

(B) TEIST & Fedlahiol & Folrg Nl 9139 i IYANT hial

(C) TS & &I S A FEEThOT T 3TN FHTaAT (D) TXT & AT i & BIE W T 3YAFT HLeAT

(AU
(
(
(

Q108: What is a “Compact City”?

(A) Development on a compact land

(B) Low density development without compromising quality of life
(C) Rapid development

(D) High density development without compromising quality of life

Q108: "HiFdFe [ Far &2

(A) Teh HET A I fashre

(B) Siia=T &I [uTal & FHSAAT hU 9T o Eefed @I A
(C) astr & fasre

(D) Sfraet T IoTaer & FHASNAT fhv foer 3Ta gefca faehra

Page 18 of 21 Internal Code: X1 BOOKLET TYPE: P



Q109: As per 2001 Census, the definition of slum is a compact area having population of at least or about
60-70 households of poorly built congested tenements.
(A) 400 people (B) 300 people (C) 500 people (D) 200 people

Q109: 2001 & STHAIANUTAT & TTHR, Feld I GRIST Teh FEleT &7 & [S0H e @ e ___ hr 3M7@mey
€ T ST 60-70 BRI F TRIe ATA, HHTIeT (congested) aTel #HhTl §
(A) 400 olraT (B) 300 W4T (C) 500 fTaT (D) 200 TaT

Q110: Of the three numbers, the first number is twice the second, and the second is three times the third. If the
average of all three is 20, then what will be the sum of the largest and the smallest numbers?
(A) 60 (B) 54 (C) 24 (D) 42

Q110: el HEAT3T & Igell TEAT g@ T T garelt g, IR gl Fear dedy 1 faaer &1 Ife 3o o
1 3 d 20 g ar 99 35 3R g99 ST G&IAT T ITh [ohdaT gHRT

(A) 60 (B) 54 (C) 24 (D) 42
Q111: A journalist to interview you later today.
(A) will be coming (B) has been coming (C) came (D) had come

Q112: Who proposed "The Garden City Concept"?

(A) Jawahar Lal Nehru in 1958 (B) Lewis Mumford in 1930
(C) Ebenezer Howard in 1898 (D) Patrick Geddes in 1915
Q112: "MEA TAEr Pledee” _ EaRT YEATAd fohar aram ot

(A) 1958 H FATET T JIg® (B) 1930 H JSH HHABIS
(C) 1898 H TdaIoX glds (D) 1915 & dfew A=H

Q113: According to TERI, by 2050, India’s urban population is expected to be about .

(A) 640 million (B) 858 million (C) 814 million (D) 720 million
Q113: T & 3IFAR, 2050 eh, HRA I AGY TGS I gl fr 37 §
(A) 640 TR () 858 AT (C) 814 AT (D) 720 AT

Q114: Which dance form of Rajasthan is included in Intangible Cultural Heritage list of UNESCO?

(A) Kalbelia (B) Terah Taali (C) Ghoomar (D) Kachi Ghodi
Q114: JAEh! T AT FEpicieh TORET FAT H ToEATT HT Pl AT Jcd T AAAT §?
(A) ST foraT (B) g dTell (C) TFR (D) et aYaY

Q115: The book "City in History" was authored by

(A) Arnold Toynbee (B) Jane Jacobs

(C) Lewis Mumford (D) Sarvapalli Radhakrishnan
Q115: “FET 3o BEEY AHGh Tesh fhaeh gan fordr 715 o

(A) 3Teifes Tigeter (B) SieT Siehed

(C) T[T HABIS (D) TG TETHSTT
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Q116: Which of the following is not a principle of good neighborhood design outlined by Clarence A Perry?
(A) Major arterial road and through traffic routes should not pass through residential neighborhoods.

(B) The radius of the neighborhood should be a maximum of one quarter mile

(C) Shopping districts should not be sited at the edge of neighborhoods

(D) Interior street patterns should be designed and constructed through use of cul-de-sacs

Q116: FolH T 9 gy 3fedf@d 31 Alged 3asd & fAcyuid RraAfaf@a # & &l a1 7@ g2
(A) 9H@ AET AR Al AT AT Aged ¥ 78 ok AR

(B) Ageel FT ESRRT 3ifhad v s Hrar gler aifew

(C) eieT 3Rgae Agear HT IR W AT glar arfgw

(D)WW*Wﬁcul-de-sacsé? mm@%maﬂwﬁmﬁwﬁmmaﬁu

Q117: Which of the following is not envisaged under the Policy for Residential, Group Housing and other Schemes
in the Private Sector, 2010 (Up to 10 hectares)?

(A) Farm House Scheme (B) Commercial Scheme

(C) Group Housing Scheme (D) Agriculture Scheme

Q117: TSl &7 & AT, Hog A Td g AIST1311, 2010 (10 g Teh) Al & dged
frafaf@a & & foradr aReedar 8T &I 78 &7

(A) BTH 839 Jratel (B) ATfOITSTH ANSTAT

(C) FHg 3TaTH FAraieTl (D) i Arsfelr

Q118: Following is not a function of GIS

(A) GPS (B) Analysis (C) Modeling (D) Retrieval
Q118: fAeAfaf@a S3msed (GIS) # th H =141 ¢
(A) ShrdTTg (B) TaATToIEE (c) AT (D) Rraer

Q119: The standard technique of depicting age-sex composition of population of a community is by preparing:

(A) Employment curve graph (B) Age-sex pyramid

(C) Population graph (D) Fertility curve

Q119: el THET T STAEEIT &I G-I TIAT T G2 T HAleTeh cTohalleh &

(A) TUSHIR &g (B) 3g-foiar FArfaAs

(C) STTHEAT & ATH (D) wiefordT &g

Q120: On which hill is the Jaisalmer Fort situated?

(A) Guru Shikhar (B) Tosham hill (C) Madhogarh hill (D) Trikuta hill
Q120: SN & fherm FE ugrEdr W Tua 2

(A) 7% RIEX (B) ATRITH TS

(C) ATNITE TgTST (D) e TgTST
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INSTRUCTIONS, Continues from the front page (fa&er, 98 9ot & )

10.

11.

12.

This Question Paper Booklet contains 120 questions. Each question comprises four choices. You should select the
response which you want to mark on the OMR Answer Sheet. In case you feel that there is more than one correct
answer, mark the answer which you consider the best. In any case, choose ONLY ONE answer for each question.

g YT T YRt H 120 TR &1 Ycdeh U & UR fashed g1 MU 38 fAehed #T Th e ¢ o
39 OMR 3R UF&h W 3ifhd T Tgd &1 I 3T oFrar & 6 T & ¥ 39 FEr &, af 39 3/ &
RfEad w1 98 3T Fo8 39ged A &1 e off fufa &, 9ds 99 & v Faar o & 33/ go |

In case more than one response is marked for a single question on the OMR sheet, it would always be taken as
wrong answer and negative marks would be assigned for that question. If& OMR 3¢ 9d& T UT&h Y2 & folU

TH T 38 IR & Rfced Far Sar § ar 58 gR2T ITed 3R F & & fogr swen 3R 39 yed & AT
FAPRIcHS 3 GU T

You have to mark all your answers ONLY on the OMR Answer Sheet provided. Carefully read the complete
instructions on the OMR Answer Sheet. 3TT9e! 39a T3 3T QU T OMR 38X 9% T & 3ifhad Fa gl
OMR 3R U3 R feu v el &I e & ud|

After you have completed filling in all your responses on the OMR Answer Sheet or the Examination has concluded,
you should hand over only the OMR Answer Sheet to the Invigilator. You are permitted to take away the Question

Paper Booklet. OMR 3R UFeh W 37Tal T 3TRT &l T & &I YT UG FHCT g Sled o oG, 3Teh!
shael OMR 3R Ueh YAdeTsh I HIUAT &1 3TUhT YT T Il &I 9 AT o ST & AT Bl
Remember to completely fill the appropriate circle on the OMR Answer Sheet. Do not use HB pencil or Gel Ball Pen.

Only transparent body ball point pen (blue or black) must be used for marking responses. A half-filled circle would
not be evaluated. Erasing or changing of answer is not allowed. Only the answers filled in OMR Answer Sheet would

beevaluated.OMRWWW@HW&?@W?WW@IUﬂﬁﬁﬁlﬁm?ﬁﬁﬁﬁﬁﬂw
TIET 7 Y| gfafrant & AT Fa & AT Fao greeff aiEt ater gige 97 (e a1 Frem) &1 39T
forar SreTr =fRw| 3mSR TS F HeAF TG HAT SWI| FA H A AT Fee B OIFAT A6 o
&hdel OMR 3R 9aeh H X 9T TRT &1 g1 Hedichel [T ST

Candidates are not allowed to leave the examination hall before completion of two hour duration of the exam.

qdelr & & B H Al qff gt @ uge 3Feant & qdieT gl Srsa H IFATT 76

Every question, except those belonging to English/Hindi language are provided in both English and Hindi languages. In

case of any conflict in translation, difference in answers, only the English version would be considered valid. 3AS/EEY
HIYT & AT Tl hl BIghy Tcdsh e s 3R RS alat enwisit # 3ucretr T 910 §| 37efare &
P ypR & Qae/3RT & Aadc fr AT & Fao 39 GE0T & AT gem|




